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CET 12 Level Answer Key 1st Shift Dated : 04.02.2023
difean o O Fufa 8, B = | m}fl . a%mmm FIRWE
e &1 (A) aqiﬁlﬂ
(A) (B) gt (B) 78 TR @R IU= HATT
(C) (D) g [c] (C) Iumml &Y TIAT AT Ud 78 TR HaE Jueesd
=0 4 F19 91 vF SA-gwee i @7 AT &
(A) 3t at| (B) €z Aftaw (D) snfdfer srammaTsi &t &n & €]
(C)zm (D) =R [D] 12. gl @ gn Fam g A §?
Choose the correct Hindi translation of the (A) Fifdem dAafasm (B) Ra R
following word from the given options: (C) wrenrar Esdor (D) srafrht [D]
Domicile certificate 13. ooy | el ar aeaf ame= @ e mar?
(A) ug wHoT U5 (B) 3mar wam 93 (A) 2 (B8)3
(C) 5= Farft ot os (D) &= v o [c] (C) 4 (D) 5 €]
2.2 g1 2+t i dias &t 0.5 @ e & dFER ar ) 3
§ T AT & TR s 14, ﬂfkﬂnﬂ-: A9 cos a FHA#
(A) 56m (B) 112m | 1
(C) 224 m (D) 448m (8] (A) P (B) 3
Fr=faf@a d | s=-a1 w6 g adhifRs od @ 2 B 7
() O+ (8)0 2 o) XL (o]
(C) AB (D) AB+ [D] 4 4
Rt | v wafan 6 zar & AW aagd 15. Pra § @ g ueRr & zaEal oue & Pem § am
(A) ggidi= (B) f=hifs et &2
(C) Ffes (D) %+ [D] (A) wfielt (B) dteerd
afEn goin § Fd as & o faear ST 8 2 (C) wemet D) ierote [€]
(A) =t wles B) A% 16. § (x-2)
(C) mar=w flect
The Heading :
(A) Salutation (€
(B) The writer's add g >
(C) The reference
(D) The subscriptiol : (D]
uravalse # 3 & 8. ey
it on "t
(A) wavmid TTEe : :
(C) .wava jpg B jpg a.gif © D
Li 3k Mg gg [ 3 : mu'!ﬂ'.]q
(A) w511 amaf-

[A]
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20.

21'

faven &t = sifte fvw Rt of oafeum @ 2

(A) iR (B) sreemg

(C) AgrTg (D) Fw=mTE [A]
voreur | duradl oo smawwr @ guww faew
draadfa gtorn & oeefa Ry mar ur?

(A) wus (B) faela

w (D) wgd (8]
qe A e 2

(A) Swrfeadty wemapr (B) qufardt wrs

(C) digurdt weTaER {nmnmmrm (A]
Choose from the options given below one
word for-

(B) Sorr;nambuhist

(A) Philogynist

(C) Recluse (D) Termagant [B]

:;h & @A sy rardfee oz I wu e
(A) HoTee (B) dR1

(C) gedla (D) @ A (c]

AT T |

nﬂw-ﬁ-d“iurmvﬂn
lﬂrlrlaﬁﬂl?m# _ :

(A) TR gl {E) :

(C) =m gt &1

af 5 sradt 2020 ) oF
@Y fE= ghm?
(A) Haar
(C) wmerar
frfaf@a 4 &

29,

.

wi¢ A= d @ Fwg & & §-

(A) AIIOR A (B) WU A1 -

(C) wrge g (D) Rewdfmaen  [B)
faafa marol & d@das ofi-h o2 =t wrren &1
(A) gefter (B) F i@

(C) ot wreey (D) yenet e (A)
adar & oreurs R Pl § e s

(A)6 (B)7

(C)9 (D)10 (D]

Go through the following poem and answer
the question given below:

O Rose thou art sick,

The invisible worm,

That flies in the night

in the howling storm:

Has found out thy bed

Of crimson joy;

And his dark secret love

Does thy life destroy.

According to the poet, the main idea of the poem
is:

(A) The poet praises the secret love of the worm,
(B) Wicked people .



CET 12*" Level Answer Key 1st Shift Dated : 04.02.2023

yi

faem gfag : 40. wua | fARe wragw § T A arefl ae & o
(A) sit¥ee (ORACLE) fasor & O o anga= v, wifae wior & awEr
(B) o aré TH g g (MYSQL) i 8, 7@ Jgad= For gl @
(C) uw vw yadts| (MS ACCESS) (A) 0° (B) 45°
(D) #te+ (Co+) (D] (C) 90° (D) 180° [c]
= ard andte & srengE a) P o e g 41, f5a Bam st & dedf & Fu sl &1 e
" faar way ur?
F (A) &7 sneter (B) Rsiferar sn<ia=
A'= Tajer (o) (C) sreTaR Jr=ter (D) % sm=e [A]
B Attt Owred | & Niom (x +1) = 2, then the value of x is: af% log:
Y (x +1) = 2, 7& x &1 7= &-
A C - Binding (e (A) 0 (B) 2
D = Printing ‘ (%) (C)3 (D)4 [C]
c E = Royalty (Tras) 43, muﬂﬁ?ﬁn#,m@mmﬂﬂt-
F = Miscellaneous (Fafie (A) areTwTaa (B)
e (c]mmm (D) ;:;ﬁlg“’ [A]
4. wWERN T -
s ARt
(C) sragz (D) SrEet [B]
mﬂﬁmmmhmMﬂ 45. 39 ufdEgr wraE & T FaEd Owd 3 Faw aral
g2 & Tt ¥ W Gy T afeds o wTHE! &
(A) 2.5 (B)9 I7& anfiaeg | +ff g+ e
(C)38 ’ [A] (A) ATHE nuH o
(C) ammrs [A]
‘& 7T TEn WA T AT Choose the h of the
(A) Fregaras ons given
(C) Proraras
wia forelt za &t
#rd aw gk 0 r."
faran wren &
(A) sradgor &
(C) arsfiapor & [D]
g Afgen &
Reaw 2022 &
(A) moar o=t
() <i. ffen =
wa & ‘ama afig [B]
(A) 1 314, 1973
(C) 1 am=, 19

(} fars [A]
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49,

51.

5w wop A wet Riein we @ watn gon 87 57. witugR & wwda ugn & Ffor ............ 3 SRETAT?
(A) fer - g (B) s - e (A) wgRra AR

(C) =y & (D) g TR (8] (B) wgmIoT

Srgare witeay & 9= & aren Rude wis - (C) mgrran

(A) AUG (B) UAA (D) wErn SHa-atas Fdm [A]
(C) UAC (D) UGG 8] 58. Mﬂwmﬂﬂﬂﬂi?

Change th following sentence from the active (A) TofRER (B) #v1g

voice to the passive voice. (C) sraeie (D) armTg [B]
We expect good news. 59. ey | Preafaf@ orearg mdadl F @ #ae gad
(A) Good news is expected, &9 aiftfes auf ure wean §7

(B) Good news should be expected. (A) BShw (B) Swg

(C) Good news must be expected. (C) BWhw (D) Aw [c]
(D) Good news was expected. [A] 60. opwEmEE A ................ TG @ & gt v
30 sraagaEr, 2022 &t oA & Hivdt wpe § g tew man?

wede= q@ 8 mar, ag e ) av a=var wan ur? (A) 343 (B) 354

(A) F07 (B) (C) 363 (D) 37& [€]
(C) wraewet (D) [B] 61. erez, F s @7

T Titet &1 Tare 0.7 #5ft &1 ga ureht & 26 | 3000 (A) efurg (B) Teqew

e gof &7 & wwaw ot R Fesren o @, @ (Clﬁﬁ M{D}ﬂﬂﬂﬂﬂﬁ (8]
mﬁm#mﬂwﬁmmtﬂﬁr=% - &T;:@ "

(A) 539 w1 a6t - (B) arerder

b (0) e (c]
-7 (ASCII-7) wfdn e frt SRR 1 o 1912 &

wifrenT g e @
(A) 16, 18
(C) 15,14
Pre=fafaa

(D) #im, arera, A€ B8]
"




CET 12*" Level Answer Key 1st Shift Dated : 04.02.2023

ﬂl

n.

74,

75.

AT ;l;ll‘ Hflrar smmatn sroen anfies witde= wega

Al

(A) TséTa wrra SifeRR T 76, ‘maifverar e f St | g2

(B) Fea =i &t lA}ggtiﬁ‘r (B) %‘Hﬁ

(C) Tvg HFR &t (C) &rd =fey (D) Yy [D]

(ln%méarmﬁamaﬂ 77. ﬁrﬁﬂuﬂdﬁmv}mw‘w&m‘h

C (A) A B) B

T & @i | |t wiume &t sifedtere W F ageran (C) AB (D)O [D]

44 78. ‘od wwf & oER g e oY @ wefiw

(A) ALU (B) w=g¥er gfe witifes &2

(C) ardvaere (D) 4&t amww [c] (A) & ama sfmifean ae

FPrafafaa & @ w9 w1 srenfRss qor wefifa s &2 (B) ut dft eoft @t @

(A) Al (B) Be (C) A= 2@ aet &t uR 2@

(C) grey Sn (D) Mo [B] (D) a3 dfg genfd S et TR [D]

wuH 50 wrgpa wwaraif & g ? 79. ¥ @ Flwa uferuide &1 =g Reeg ad 87

(A) 1000 (B) 1200 (A) srraeemgT =g (B) et g

(€) 1275 (D) 1525 (€] (C) wge wi&k &g (D) %rgs 2 &y [A]

afy 'CLOCK" =t “34235' Gﬂ!_"l'lME' W ‘'8679' & 80, UH AR ASETHFONUA AT, 5 32, q@E1&F

gfea Rvar wmd &t ‘MOLEK’ & forg & aan gim? e @gediaRgeaffr s 2208, st dA A =. 2

(A) 72945 (B) 72495 & Rl Hr v g ?

(C) 62945 (D) 6249 ; [B] (A) 30 (B) 35

qeg Ha & FAEER o grelt Bl geae dw a (C) 60 (D) 120 [A)
& grare ot - 81. ' g f ! weraw & #7

(A) 7T i & B) sjufafda (A) F

(C) vemifares &g & ' I q [A] (C) [€]

oy d ® _ £ ; glggard

(A) 1992 3) 19 : wrard

€120 Bl 1ors

Fill in the blan

options from th S G he [€]

It's time they & dw

project.

(A) started ) sté 3L : 2P

(C) will would sta [ [€]

Choose the words V are ne pposi -

in meaning to the underlined word

Opaque g

(A) Cloudy

(C)Blurred | [e]
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21.

922.

Mtﬂq & amvreh 7 fRafifa ofafde ora fsar an

& @?

(A) Feaer gdor Zm™T (B) sraae ado Y

(C) Twae adur gra (D) srade &9 gr1 [B]

e T ———
?

(A) 450° C, 3ma== (B) 45°C, =
(C) 150° C, &rar (D) 300° C, fawar [A]
WA & A FIfEe AHIG TEES giAaE fad
gmmmﬁhﬁmm —

T T
(C) waren mdiTy {D)igmuﬁm [A]
& adH are e @ wua ffog?
(A) sr=aeafa (B) ar<fem
(C) s=auf= (D) sidfera= [c]

of% uw @ Zmr et arord & s @ f
srearé &t /3 qon &, @t gl @ g o §2

(A) 300 (B) 45°
(C) 60° (D) 90° . [A]
TIOTEYTH & BT TATTHATH ..ovveeve.eornes B (RATE B2
(A) wagh (B) =t
(C) qadrarsht (D) yRIeIE [B]

A3, 7) aurB (-
o J, &

3
(A) r3

(cyé
fr=faf@a f | f
I &d & I
(A) TroT= g
(B) wrefra g
(C) Baar @
(D) Avrat fa
munt

ﬂ‘dfkwﬂﬂu}
af R 87
(A) =ter

TGS
(C) TR o

gt ufiys ) ok werar @, ag ardi ok g @, AW
ardt ot g& aw g ardi ok @ o grdf ok gd
aia & grdf ok weram @1 ag fva Ran d s egr 82

&

-

(A) Fe (B) =feyor

(C) g (D) ufgm (D]
‘araneft’ & e (Shar) fFe vu= & vfag &7

Eé} g Eg)) FAR [A]

-aRdtelt AEr= W &7

(A) Tt e (B) wrvarer &= =

(C) wrét &ff= &1 (D) & & & [D]
Fill in the correct article.

He is not ............... hOnourable man.

(A) an (B) the

(C)a (D) no article [A]

S

100.

101.

102.

108.

109.

110.

gy gftdey aa gra= it & o

(A) et avg a1 wfafdsa gftwues & @D ff g w
wiEfEa gl 1

(B) Mm&muﬁﬁw;ﬂm&:mﬁﬁﬂﬂgm
(C) A ejeren g} wirerr &1

(D) =i Fr smmepfer mifera 7 gt [D]
ey | wuren g @wrdmn & ey e
nfafafa & =t &2

(A) fréY & et = Tizayor @
(B) wrer-gramu=t et fera

(ijl (D) Tt Framwor D]

mn-ﬁsﬁmmm#m
wTeds qrear @ R wenfaa o mar?

(A}aﬁ‘mﬁm (B) smanm urE

(C) e JfteraR (D) amam offaat [B]

woreurE & fahw dwea & #e gedl i s g

farwar s &2 )

(A) arguu (B) sreTeht fireg wivera

(C) et dwera (D) Rt swrera (8]

Wt 3 (9w fardtar 2022) fsw glw @
L o grasr
(A) @

(c]
(CcPI) 2023 ¥ wrea

(A) (B) Hradt

(C) e (D) e [c]
L+ M@t aref L, M a1 wrd 81
L-Maradf L Mg i

L+ Mt L, MR ot @)

L x M@t aref L, M & frar @,

at Fafaf@a d @ e srd 2 A6 R, T & wran 87

(A) R+AxS+T (B) R+A+SxT

(C) R+A-S+T (D) R+A+S-T [A]
fre ad & e A gmE-l wigr W ?

(A) 2007 (B) 2008

(C) 2009 (D) 2010 [B]

Choose an appropriate translation for the
sentence given:

She saved money for a rainy day.

(A) 3= TRty & g 44 a0y

(B) 3u= oftra @ 4@ &= |

(C) 3 A=l &t o & a=man)

(D) 387 ¢ awh & forg & a=my) (D]
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1.

113.

114.

115.

116.

& wé shoft &1 apren Uz 8-

CEHLQ?

(A) U

(B)V

(CQw

(D) X (]
Fow sioft & wtgen &-

A

(C) e

(D) dte [A]
e aun dzw fdal & dm w F=n fven w4
(A) Fvrere feen

(B) Zreme e

(C) Rtene faven

(D) zorepsdiz e [c]
fr=faf@a F @ e area F seefes Rrar &1 wain
oo mar @7 .

(A) wfte = @@ @1 (B) S99 arihdt @1 21
(C) T3 1es 3@ Tt @1 (D) 98 TR gt s
Mﬁmﬂmﬂauﬁtﬂ &) 1 AT B

(A) wiceft
(C) aeR

(D]

(D]

n7.

118.

119.

120.

Complete the sentence by choosing the
correct préposition from the choices given
below:

What's the time........ your watch?

(A)in (B) at

(C) on (D) by [D]
mmammmmt’

(A) Srsarmn (B) S

(C) Fam= (D) Yaran [D]

A ABC awn A DEF fafy AB _BC _CA _3 &t 39
DE EF FD 5’

&G 1 AT -

(A) 9:25 (B) 16:25

(C) 5:3 (D) 3:5 [A]
afterwo e

[, x+my+n =0
,|'2.x+m2y+n2=(}
fo_m  m
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123. % q@Rem g Raté 2022 & wemarraraf #7 132, ufX g wsifiy 12 ad F wruror wrer § 2 @ grEh
(A) faza &e o ol @, it gy R et 3 Rrpeht ghefi?
(B) sy T yafewor srdims (A) 18 aef (B) 24 =ef
(C) faraa anfifes e (C) 30 aef (D) 36 ad (8]
(D) fares (B] 133, i 8w feua &7
124. woreur ¥ ur daraal & e o §? (A) srevmree was i (B) sram o
(A) 10,890 (B) 12,560 (C) farfermm # (D) FreRTEvE § (A
(C) 11,283 (D) 13,443 [c] 134. Fr=fafla & @ #15 1946 7 wira & w@fus Pk
125. “T?" i v area| & ga amg w F an wimtuﬂﬂﬁtmiuﬂsﬂahﬂnﬂ
mar
(A) <1 ad (B)1-4ad (A) Rrsrafite afdtes (B) sfta=rst Aoy sgar
(C)4-6ad (D) 6 - 10 =f (B] (cnhmmmﬁ [D)mqwﬂm [€]
126.m;hﬂmmnhi:mnﬁwﬂmmw 135, wweuelty R srdmn e ad F arg B ma
wwa g? ur?
(A) TguTel & gR1 Jed =ararerd & ofa & arg (A) 1977-78 (B) 1980-81
(B) Tregafer & ZRr wafeq =ararery % oitg & amg {cl 2001-02 (D) 1984-85 (A
(C) faum &wr & wgifal weara & dga vvauTE gIU 136. & wpuln @ goeus d &gl
(D) #ae & =g were & aga asgufa & g [B) lhmgﬂmt?
127. gd A Rt =afen a1 sflresrdt &t it g o @ orara ! (B) wter
rmﬁmmﬁr}mt TR tCJmam ttg;wa! - (D]
A B) famfta ! 137. q@e ToreuTs @& oy e Prgea mar?
(C) fAféer (D) a7 . (D] (A) FERTT Hard ATfaE
1n.wﬂﬁmﬂ#1u ; :““Iﬁt (B) wewTaT yurefdEg
ﬂmilmnﬂﬂm (C) mERaa awaf
(D) wERTare AeHoH (A]
W Ch on of the
2% ' iy -
129. (C] ﬁ[ : -. gistr
Irrt?
130. £ e
muuﬂmﬂ .
(A) zardi [c]
(C) amgd '
131, ':;:;:rdnﬂ- mm
& e
(A) ST § B) i- (0]
(C) wetfayan @ ' D) &
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141.

142.

143.

144,

145‘

146.

147.

148.

149.

gfoar Ve oife wiee ol 2019 & sar ag avg
(&= wfa v aff) ol a= &x & offem a9

e &, q| 87

(A) derme (B) vraru™=

() efemon (D) IR Ry [c]
Fr=faf@a F @ sl=an gads vaae A1, A2, A3 ot
A4 @« &1 g @tor & e adt @7

(A) =sum (A1to Ad4) (B)=sum (A1; Ad)

(C) = sum (A1 : A4) (D) =sum (A1-A4) [C]
Pr=fafaa & @ s aft gafea ad@ff &2

(A) ¥ievra & grar ; e 15

(B) #a & fmfor &1 aifdesm : orgede 19

(C) sfterr & 2em &1 HffreRR : srgede 20

(D) e ITaRt 1 HfderR : Iy 32 (€]
Pr=faf@a F @ Rra am dx &t 38 oFf &g e @7
(A) wrifdar (B) sfTet

(C) maren (D) grht (8]
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